
13

2 pcs. M8 x 100 mm/ 
M8 x 150 mm square neck bolts

2 pcs. M8 locking nut

Secure the back beam with  
M8 x 20 mm and M8 locking nut  
on both sides of the beam.

13

M8 x 20 mm 
stud screw

M8 flange nut

Back stop

Back feet

Front feet

1313 13

2 pcs. M8 x 25 mm
2 pcs. 16 x 8,5 mm 
washer

2 pcs. M8 locking nuts

2 pcs. M8 x 25 mm

2 pcs. M8 locking nuts

M8 x 25 mm 
stud screw

M8 locking nut
Back stop

Handle

Pull out unit - Beam mounted

Pull out unit - Floor mounted

Fastener for fixing to floor is 
not included. Screw anchor 10x60 mm 
is recommended.

The screws at the rear edge of the pull-out units should 
clamp around the rear beam. The front flange of the pull out 
unit should not be flush against the front beam.

AJ-A-0913
V1, 2022-10-04


